
D
al

ší
p
�
ík

la
d

: 
d

vo
jk

o
vá

s�
ít

a
�

ka

•
s
e
�
te

m
e
 v

e
 d

v
o
jk

o
v
é

s
o
u
s
ta

v
�

3
 +

 2
:

•
p
ra

v
id

la
: 
0
 +

 0
 =

 0
, 
0
 +

 1
 =

 1
, 
1
 +

 0
 =

 1
, 

1
+

1
=

0
 a

 p
�e

n
o
s
 1

 d
o
 v

y
š
š
íh

o
 �

á
d
u



D
vo

jk
o

vá
s
�
ít

a�
k

a

•
o
b
v
o
d
 
s
�
ít
a
�
k
y
 p

ro
 j
e
d
e
n
 b

it
 m

á
:

–
2

 v
ý
s
tu

p
y
 (

s
o

u
�
e

t 
s

a
 p
�e

n
o

s
 d

o
 v

y
š
š
íh

o
 �

á
d

u
 

q
)

–
v
s
tu

p
y
:

•
p
ro

 n
e
jn

iž
š
í
�á

d
 (

n
u
lt
ý
) 

d
v
a
 v

s
tu

p
y
 –

2
 b

it
y
 s
�
ít
a
n
c
�

a
,b

–
tz

v
. 
p
�
ls
�
ít

a
�
k
a

(h
a

lf
a
d
d

e
r)

•
p
ro

 o
s
ta

tn
í
(v

y
š
š
í)

 �
á
d
y
 t
�i
 v

s
tu

p
y
 –

2
 b

it
y
 s
�
ít
a
n
c
�

a
,b

a
 p
�e

n
o
s
 z

 n
iž

š
íh

o
 �

á
d
u
 p

 –
tz

v
. 
ú
p
ln

á
s
�
ít
a
�
k
a



P
�

ls
�
ít

a�
ka

T
a
b
u
lk

a
 a

 

ro
v
n
ic

e
S

c
h
é
m

a
ti
c
k
á

z
n
a
�
k
a

Z
a
p
o
je

n
í



Ú
p

ln
á

s�
ít

a
�

ka

T
a
b
u
lk

a
 a

 r
o
v
n

ic
e

S
c
h
é
m

a
ti
c
k
á

z
n
a
�
k
a



O
s

m
ib

it
o

vá
s�

ít
a
�
ka

•
v
z
n
ik

n
e
 k

a
s
k
á
d
n
ím

 z
a
p
o
je

n
ím

 

je
d
n
o
b
it
o
v
ý
c
h
 s
�
ít
a
�
e
k


